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Lossplot for Petal.Length

Dimension 1

D
im

en
si

on
 2

1

1.1

1.2

1.3

1.4

1.5

1.6

1.7

1.9
3
3.3

3.5
3.6

3.7
3.8

3.944.14.24.34.44.54.64.74.8
4.9

5
5.1

5.2
5.3

5.4
5.5

5.6

5.7

5.8

5.9

6

6.1

6.3

6.4

6.6

6.7

6.9

●
●

●

●●●
●

●
●

●●
●●●

●●
●

●●

●●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
1

1.1

1.2
1.31.41.5
1.6
1.7
1.9

33.3
3.53.63.73.83.9

4

4.14.2

4.34.4

4.5

4.6
4.7

4.8
4.9

5

5.1

5.2
5.3
5.4

5.5

5.6
5.7

5.8

5.9

6

6.1

6.3
6.4

6.6
6.7

6.9


